OPERAATORTEISENDUSED

L-TEISENDUS Z-TEISENDUS
X(s) X(t)  Vt<0=x(t) = 0 |X[KT]vk<0=x[kT] =0 X(z)
1 3(t) SIKT] 1
e™ S(t—1) S[(k —m)T] zm
st 1(t) 1[KT] z _ 1
z-1 1-z71
s? t kT Tz
(z-1)?
1 e-at e-akT
S+a Z— e_aT
1 a' akT z
s—Ina z-a'
— — (-1)*a*" = a“"cos kn z
z+a'
1 te_at kTe_akT Tze 2T
(s+a)’ (z_e—aT)Z
0} sin ot sin ko T zsineT
s? +? 2% —2zcosoT+1
S cos ot cos koT z(z-coswT)
s® + z? —2zcosoT +1
® e sin wt e T sin koT 76T sinoT
(s+a)? +w? 22 —2ze T cosT +e 7247
s+a e cos ot e T cos kaT 2(z- e coswT)
(s+0a)? +w? 22 —2ze T cosoT +e724T
Q) sinh ot sinh okT zsinhoT
s? — 2 z? —2zcoshoT +1
S cosh ot cosh okT z(z - sinhwT)
s -’ 72 _2zcoshoT +1
as+b ae™ cos ot+ de T cos koT+ dz(z—-c
(s+a)? +? b-aa +e T sin kT ( 2 )2 (p*+v* <)
+ e sin ot ® (z-p)"+v
¢ o=~ In(p2+72)
or P Y
o = arctan—

p




LISA 2

OPERAATORTEISENDUSTE OMADUSED

LAPLACE’l
Vi< O0=x(t) =0

TEISENDUS
X(t) <= X(s)

Z-TEISENDUS
vk <0=X[t] =0 X [kT]«Z= X(z)

aX(s) + by(s) «—— ax(t) + by(t)
aX(as) «—— x(é)

e X(s) L x(t—1)
e™(X(s) - j x(t)e Sdt) «—=—s x(t + 1)
0

t
X(s) - Y(s) j x(t)y(t — 1)dt =
0

t

J-x(t —Oy(t)dr

0

SIin sX(s) = ﬂl‘o X(t) = x(+0)

lim sX(s) = lim x(t)
s—0 t—o

TULETISE KUJUTIS

sX(s) — X(+0) @% x(t)

s2X(s) - X(+0) — sx(+0) @%x(t)

INTEGRAALI KUJUTIS
t
Lx(s)tos [x@ae
S 0
KUJUTISARGUMENDI MUUTUS

X(s +a) «e@X(t)
X(s — a) «Lt>ex(t)

LINEAARSUS

AJAMASTAABI MUUTUS

AJAARGUMENDI NIHE

KONVOLUTSIOON

PIIRVAARTUSSEOSED

ax[KT] + by[kT]«—~— aX(z) + bY(2)

a*x[kT] <2 X(az)

X[(k = m)T]«2-2z2"X(2)
X[(k+m)T]eZ—>z™ (X(z) - Ii x[jT]zij
=0

k

D X T -v)T]=

v=0

k
= k=TT X(2)Y(2)

v=0

lim x[kT] = x[+ 0] = lim X(z) = lim 2=2x(z)
k—+0 Z—0 zHo Z

. . .oz-1
lim x[kT] = lim(z - )X(2) = lim — X(z)

DIFERENTSI KUJUTIS
AX[KT] = X[(k + 1)T] = X[KT] 22—
—2 5 (z - 1)X(2) — zx[+0]

A’X[KT] = AX[(K + 1)T] = AX[KT]«2—
—Z 4(z-1)*X(2) — z(z — 1)X[+0] — zAX[+0]
SUMMA KUJUTIS

k
vzzc; X[VT](i)i X(z)




